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(B3 975 296 679 [EN T 3,505 2,198 1,307 |1 [FRERX 28 5 23
2 |EHE 60 6 54 2 [iEeh 43 7 36 PGETS 92 14 78
3 [5FE 85 20 65 3 [Fhimth 16 3 13 3 |BX 729 330 399
4 |ERE 102 22 80 4 |BEH 245 73 172 4 | FERX 2,550 1,089 1,461
5 AR 35 7 28 5 )l 116 63 53 5 | XEHERK 205 90 115
6 [LLFzE 35 6 29 6 [tEERE™ 18 1 17 6 [BEEREKX 1,078 626 452
1 |RER 111 13 98 RE = 592 212 380 ETETSS 1,147 489 658
8 |RE 162 17 145 8 [m#kth 937 374 563 8 IERX 65 41 24
9 [HEARE 349 31 318 9 | K 4,330 2,811 1,519 | 9 [RIIX 194 107 87
10 [HEEE 134 25 109 |10 [ 34 1 33 10 [HERX 36 14 22
1 [BEE 299 47 252 |11 [#HFEm™m 105 35 70 11 [ KARX 168 82 86
12 |[FER 839 139 700 |12 |EtH 59 13 46 12 [{HHAX 332 110 222
13 | B4R 331 73 258 13 (L& 424 275 149 13 X 1,293 682 611
14 [#=JIE 351 100 251 14 [)IlOH 15 6 9 14 [FEFX 290 166 124
15 [FiRE 219 13 206 15 [J\EFH 37 12 25 15 (&2 303 106 197
16 [EILE 106 12 94 16 [##28&h 64 4 60 16 [EBEX 1,369 646 723
17 |[BIIE 39 7 32 17 |&iRt 64 31 33 17 [k 305 114 191
18 |fBHE 32 4 28 18 |24t 4 1 3 18 I 102 67 35
19 [ILBE 288 51 237 19 |—= 3 1 2 19 [#RIEX 317 130 187
20 | EHE 131 22 109 20 |[#xATH 16 4 12 20 [FEX 83 14 69
21 [IFE IR 189 35 154 |21 [)\EH 3 1 2 21 [RIX 106 45 61
22 [ERMEE 338 66 272 |22 |[BRIIH 3 3 0 22 |BfiX 301 180 121
23 [BEHE 105 16 89 23 |WRHETH 11 2 9 23 IR 289 137 152
24 [=EE 189 16 173 | 24 [5ERR™T 8 0 8
25 |HER 180 33 147 | 25 |Bi&mH 6 0 6
26 |ARAF 71 9 62 26 [B=ET 1 0 1
27 | KR AF 173 32 141 27 |BAETH 0 0 0
28 |[EER 61 6 55 28 |EE™ 59 9 50
29 [ =ERER 174 23 151 29 |BEH 15 1 14
30 |F0FRILIE 421 119 302 30 |E&mh 20 9 11
31 [ERE 23 5 18 31 |E%0mh 19 2 17
32 |ERE 86 13 73 32 |# ™ 448 80 368
33 |REWIE 45 11 34 33 |ETHTH 21 3 18
34 [[LER 151 28 123 |34 [#Rw™ 73 12 61
35 [lLOE 77 8 69 35 |F4IBmH 20 5 15
36 [EER 58 8 50
37 [BIE 127 42 85
38 [BER 122 30 92
39 (SR 52 9 43
40 |fER R 1,634 959 675
4 [EER 34 10 24
42 | RIBE 150 43 107
43 |FERIR 107 27 80
4 (K8 99 33 66
45 [FIFIE 77 20 57
46 EEIRBE 165 26 139
47 [hiER 1,392 417 975
10,983 | 2,955 8,028 11,334 | 6,252 5,082 11,382 | 5.284 6,098
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MR 10983 | 29055| sozs| MEECEIBREAOBEREM
REFARET | 11,334 | 6,252 | 5,082
10,182 B=E
YAl X 11,382 | 5284 | 6,098
&t 33,609 | 14,491 | 19,208




